The Straight Line
Homework 1
1.  Find the angles which the lines joining the following pairs of points make with the    

      positive direction of the x-axes (OX)

     (a) (0, 0), (1, 1)
(b) (0, 0), (
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, 1)
(c) (-3, 6), (5, 4)
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2.  Find the equations of the lines through the following points, with the given

     gradients. Give your answers in the form 
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     (a) (2, 3), 4

(b) (0, 4), -2
   (c) (-4, 2), ½
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3.  Find the equation of the line through (-3, 2) and parallel to the line 

     
[image: image3.wmf]0

4

3

2

=

+

+

y

x

.








(3)
4.  Find the equation of the line connecting points (1, -4) and (3, -6).

(2)

5.  P is the point (4, 0), Q is (0, -3) and R is (-5, -1). Given that PQRS is a 
     parallelogram, obtain the equation of RS.





(3)





6.   Prove that the points A(-2, 1), B(-1, 0) and C(7, -8) are collinear.

(3)
7.
Solve the equation 
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8.
Solve the following simultaneous equations
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TOTAL
27
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